Everything you need to know for this unit!
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4. Find the slope:
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| 8- Find the siope: 10. Find the siope: _ s
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11. Find the slope: 12. Find the slope:
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[[& Wit the siope-intercept form of the equation 5, Write the siope-intercept form of the equation that |
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‘ #2 o I can write the equation of a line when given the graph of a line.
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2. Sketch the graph of the line:

y=-,x+4
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4 - Paraliel and Perpendicular Lines
lﬂentﬂy the lines as parallel, perpendicular, or
nlllber
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2. Identify the lines as parallel, perpendicular, am
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3 ‘Write an equation in that is parallel to
y=-3x—-2
nd passes through the point (-1,5).
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4. Write an equation in that is perpendicular to

y=-¥x+8
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